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1.00 f:[0,1]—[0,1]0 [0,1]00000000000f(c) =
000 ce0,1]000000000000000

2. flx)=230000

(1) 0000000 o,k 0000 f(a+h) — f(a) = hf'(a+ 6h),
0<f<10000600000000a>0,a+h>00
000

(2) (1) 0 ¢000 limg 00000

3. ()e*O0OO0OOODODODOOOO

(2) 00O
. e — (A4 Bx + Cz?
lim
z—0 ;1;3
OJo0o0ooooooo A, CO0dooboooooooon
o000

4. f(z,y) O C?00 g(u,v) = flu—ov,uwv) D000

(1) gu(u,v), go(u,v) 0 fOO0D000 w,v DO0OO0O0O
(2) gul(u,v)0 f0000000000 w,o 000000

5. (z,y) € R0 zcosy+y=100000000

(1) (z,y) = (0,1) 000000 y=(z) 000000000
O00¢'(z) 0 20 y(=p(x) 000000

(2) 0000 ¢"(x)0 20 y(=¢(x)) DO0O0DOODO



